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QUESTION 1

An administrator binds VLAN interface 10 to VPN instance "TenantA" on an HP Comware switch by using this
configuration: interfaceVlan-interface 10 ip address 10.1.10.1 255.255.255.0 How does the administrator\\'s action affect
the interface IP address?

A. The interface loses the IP address, and the administrator must configure the IP address on this interface again.

B. The IP address remains 10.1.10.1/24 but is extended with the Route Distinguisher (RD) and can now be assigned to
an interface in another VPN instance.

C. The interface loses the IP address and the administrator must map the interface to 10.1 10.1/24 from the VPN
instance context

D. The IP address remains 10.1 10.1/24. but now this subnet can also be assigned to an interface in another VPN
instance.

Correct Answer: D

QUESTION 2

An HP IRF virtual switch with two members is implementing TRILL. The administrator wants to ensure that the master
can fail without causing topology changes or changes in forwarding tables in the TRILL region. Which setting helps
support this requirement?

A. Graceful Restart for TRILL

B. Bidirectional Forwarding Detection (BFD) Multi-Active Detection (MAD) for the IRF link

C. calculation of at least two trees

D. non-stop-forwarding for TRILL

Correct Answer: B

QUESTION 3

Refer to the exhibit
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An administrator is planning an MPLS solution and wants to make sure that traffic from 10.1.0.0716 to 10.2 0.0/16 takes
the best path. The solution is not using Traffic Engineering (TE). How does PE-1 choose between the label advertised
for 10.2.0.0/16 by P-4 and by P-5?

A. based on which peer is the higher priority LDP peer

B. based on which peer is the next hop in the best route in the IP routing table

C. based on which link has the lower LDP cost

D. based on which link has the lower MPLS cost

Correct Answer: B

QUESTION 4
In addition to the Admin MDC, an HP Comware switch supports two MDCs: MDC 2 and MDC

3. The administrator wants to allow tenants for both MDCs to log in to CLI for their own MDC without first accessing the
Admin MDC How can the administrator accomplish this goal?

A. Assign a console port to each MDC Tenants can then connect their own terminal equipment to their assigned port.

B. Define a VLAN as the MDC Management VLAN in the Admin MDC. On each MDC. create this VLAN. Assign a port
to it. Set up an IP address on it and set up Telnet or SSH access through it.

C. Create subinterfaces for the AUX user-interface in the Admin MDC. Assign one of the subinterfaces to each of the
MDCs. and set up Telnet or SSH access through that interface

D. Define a physical port as the Management-Ethernet interface in the Admin MDC On each MDC. Configure a different
IP address for this interface, and set up Telnet or SSH access through it.

Correct Answer: B
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QUESTION 5

To support FCoE traffic, a switch port needs to use Application TLVs to communicate application priority information to a
Converged Network Adapter (CNA). The setup process includes the configuration of an Access Control List (ACL).
What is a valid ACL?

A. Advanced ACL that selects traffic by UDP source port

B. Advanced ACL that selects traffic by TCP source port

C. Standard ACL that selects traffic by source IP address

D. Ethernet ACL that selects traffic by Ethertype

Correct Answer: B
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